C TR EE R E (BKE)



T T EEF R
@® @) ® @ ® ® @ ©®
RKTE | RUKIE | mA | RATE | i | T e o]
, . aEF | &
DIP ¢ 75 DIP¢ 75 | DIP ¢ 100 | DIP ¢ 100 VP ¢ 75 VP ¢ 75 VP ¢ 75 VP ¢ 75 VP ¢ 100
DP=0.9m DP=1.2m DP=0.9m DP=1.2m DP=1.2m DP=1.2m DP=1.2m DP=1.2m DP=1.2m
Hi3E 39%Y | HiE 39%Y | HiiE 39 | Wi 397 | MU 390 | HE 397U | HE 394U | HiE 39%Y | HijE 395U
SRR T t=5cm m| 189.7 5.0 343.8 8.5 4.0 4.0 6.0 194.1 | 483.8 [1238.9 | 1240
SEERRmoET | | | e
0.20BH t=10cmPL F | nf| 56.7 1.3 154.9 2.3 1.0 1.0 1.8 58.0 | 145.1 | 422.1 | 422
B S T 0.20BH m| 53.3 1.6 150.2 2.9 1.2 1.4 2.6 71.4 | 181.8 | 466.4 | 470
MBS T (8 fL +) 0.20BH o 0.9 1.1 2.0 4.0 4
MIEE T (362 4) 0.20BH o] 33.4 1.2 95.0 2.1 52.2 | 135.0 | 318.9 | 320
sy T R mi| 16.2 0.3 44.6 0.6 1.2 1.4 2.6 13.4 31.8 | 112.1 | 112
sy T AS m| 2.8 0.07 7.7 0.1 0.1 0.1 0.1 2.9 7.3 21.2 21
FAEAEeE
I R s T t=19cm | nf| 56.7 1.3 154.9 2.3 1.0 1.0 1.8 58.0 | 145.1 | 422.1 | 422
AR
T t=15cm i 56.7 1.3 154.9 2.3 1.0 1.0 1.8 58.0 | 145.1 | 422.1 | 422
TR v A N N A A N S A B N R
FE T (#58) | t=5cm PK3 |nf| 56.7 1.3 154.9 2.3 1.0 1.0 1.8 58.0 | 145.1 | 422.1 | 422




IERAERTER

. i & -
il Ml no neE B £ &
O EKE HE 397 DIP ¢ 75 0.90 94.54
@ | EKE HiE 397 DIP ¢ 75 1.20 2.19
® | EKE HOE 397 DIP ¢ 100 0.90 238.27
@ | EKE HiE 397 DIP ¢ 100 1.20 3.61
® @ Ee HiE 397 VP ¢ 75 1.20 187X 1.0m 1.00
®  rwkETeE g 39%Y VP ¢ 75 1.20 1T X1.0m 1.00
@D  F#ikosrvr  EE 3978 VP ¢ 75 1.20  1f&FT X 1.5m 1.50
PERRE S HOE 397 VP ¢ 75 1.20 96.73
© BEREME HE 394 VP ¢ 100 1.20 241.88




+TEHEE
HE 397
Bic K &

DIP ¢ 75mm DP=0.9m

R R DIP ¢ 75 MRS 094 m
SR 0.05 m BeEE 060 m R+
BIFO 0.075 m B 019 m @B
AR 0.093 m BAE 015 m  FEEE
FHE S RS 060 m AS 0.05 m
PRHI R 94.54 94.54
SRR T
t=5cm 94.54 2 + 0.60 X 1 = 189.7
EfiE R EUE T
As t=10cmPL 94.54 0.60 = 56.7
FE AR T
94.54 0.60 X 0.94 = 53.3
WERT (B4E+)
0.60 0.60 - 0.093 2
X
7 = 4 ) X 94.54 = 33.4
A TG4 1) Skt
53.3 33.4 = 0.9 = 16.2
¥ AL T.(AS)
56.7 0.05 = 2.8
T E A T
FAYIARA t=19cm 94.54 0.60 = 56.7
RC-40
LT
HARFERA t=15cm 94.54 0.60 = 56.7
RM-40
F=ET
HABRET 270 t=5cm 94.54 0.60 = 56.7

PK—3




+TEHEE
HE 397
Bic K &

DIP ¢ 75mm DP=1.2m

R R DIP ¢ 75 MRS 124 m
SR 0.05 m BeEE 090 m R+
BIFO 0.075 m B 019 m @B
AR 0.093 m BAE 015 m  FEEE
FHE S RS 060 m AS 0.05 m
PRHI R 2.19 2.19
SRR T
t=5cm 2.19 2 + 0.60 X 1 = 5.0
EfiE R EUE T
As t=10cmPL 2.19 0.60 = 1.3
FE AR T
0.60 1.24 - 0.093 2
7 = 4 ) X 2.19 = 1.6
WERT (B4E+)
0.60 0.90 - 0.093 2
X
7 = 4 ) X 2.19 = 1.2
Ay T4 +) Skt
1.6 1.2 - 0.9 = 0.3
¥ AL T.(AS)
1.3 0.05 = 0.07
T E A T
FAYIARA t=19cm 2.19 0.60 = 1.3
RC-40
LT
HARFERA t=15cm 2.19 0.60 = 1.3
RM-40
F=ET
HABRET 270 t=5cm 2.19 0.60 = 1.3

PK—3




+TEHEE
HE 397
Bic K &

DIP ¢ 100mm DP=0.9m

R R DIP ¢ 100 MRS 097 m
SR 0.05 m BEE 063 m R+
BIFO 0.100 m B 019 m @B
AR 0.118 m BAE 015 m  FEEE
FHE S RS 065 m AS 0.05 m
PRHI R 238.27 238.27
SRR T
t=5cm 238.27 X 2 — 132.70 = 343.8
EfiE R EUE T
As t=10cmPL 238.27 X 0.65 = 154.9
FE AR T
23827 X 065 X 0.97 = 150.2
WERT (B4E+)
0.65 X 0.63 - 0.118 2
X
X 7 = 4 ) X 238.27 = 95.0
A TG4 1) Skt
150.2 - 950 =+ 0.9 = 44.6
Ly T.(AS)
154.9 X 0.05 = 7.7
T E A T
FAYARA t=19cm 238.27 X 0.65 = 154.9
RC-40
LT
FERIEfEA t=15cm 238.27 X 0.65 = 154.9
RM-40
F=ET
HABRET 270 t=5cm 238.27 X 0.65 = 154.9

PK—3




+TEHEE
HE 397
Bic K &

DIP ¢ 100mm DP=1.2m

R R DIP ¢ 100 MRS 127 m
SR 0.05 m BeEE 093 m AL
BIFO 0.100 m B 019 m @B
AR 0.118 m BAE 015 m  FEEE
FHE S RS 065 m AS 0.05 m
PRHI R 3.61 3.61
SRR T
t=5cm 3.61 2 + 0.65 X 2 = 8.5
EfiE R EUE T
As t=10cmPL 3.61 0.65 = 2.3
FE AR T
0.65 1.27 - 0.118 2
7 = 4 ) X 3.61 = 2.9
WERT (B4E+)
0.65 0.93 - 0.118 2
X
7 = 4 ) X 3.61 = 2.1
Ay T4 +) Skt
2.9 2.1 - 0.9 = 0.6
¥ AL T.(AS)
2.3 0.05 = 0.1
T E A T
FAYIARA t=19cm 3.61 0.65 = 2.3
RC-40
LT
HARFERA t=15cm 3.61 0.65 = 2.3
RM-40
F=ET
HABRET 270 t=5cm 3.61 0.65 = 2.3

PK—3




+TEHEE
HE 397
EreE

VP ¢ 7omm DP=1.2m

R R VP ¢ 75 MRS 124 m
HEWE 0.05 m BEE 090 m okt B -
BIFO 0.075 m B 019 m @B
AR 0.089 m BAE 015 m  FEEE
FHE S RHIE 1.00 m AS 0.05 m
PRHI R 1.00 1.00
SRR T
t=5cm 1.00 X 4 = 4.0
EfiE R EUE T
As t=10cmPL 1.00 X 1.00 = 1.0
P Ak A T
( 1.00 X 1.24 - 0.089 2
X 7 = 4 ) X 1.00 = 1.2
WERT (hiktgRE 1)
( 1.00 X 0.90 - 0.089 2
X
X 7 = 4 ) X 1.00 = 0.9
Ay T4 +) Skt
1.2 - 0.0 - 0.9 = 1.2
Ly T.(AS)
1.0 X 0.05 = 0.1
T E A T
FAEPARA t=19cm 1.00 X 1.00 = 1.0
RC-40
LT
HARMMA t=15cm 1.00 X 1.00 = 1.0
RM-40
F=ET
HABRET 270 t=5cm 1.00 X 1.00 = 1.0
PK—3




+TEHEE
HE 397
WK ENT T

VP ¢ 7omm DP=1.2m

R R VP ¢ 75 MRS 144 m
SRR E 0.05 m R 110 m Bkt -
BIFO 0.075 m B 019 m @B
AR 0.089 m BAE 015 m  FEEE
FHE S RS 1.00 m AS 0.05 m
PRHI R 1.00 1.00
SRR T
t=15cm 1.00 4 = 4.0
EfiE R EUE T
As t=15cmPL T 1.00 1.00 = 1.0
FE AR T
1.00 1.44 - 0.089 2
7 = 4 ) X 1.00 = 1.4
WERT (hiktgRE 1)
1.00 1.10 - 0.089 2
X
7 = 4 ) X 1.00 = 1.1
Ay T4 +) Skt
1.4 0.0 - 0.9 = 1.4
¥ AL T.(AS)
1.0 0.05 = 0.1
T E A T
FAYIARA t=19cm 1.00 1.00 = 1.0
RC-40
LT
HARFERA t=15cm 1.00 1.00 = 1.0
RM-40
F=ET
HABRET 270 t=5cm 1.00 1.00 = 1.0

PK—3




+TEHEE
HE 397
N v ay%s

VP ¢ 7omm DP=1.2m

R R VP ¢ 75 MRS 1.440 m
SRR E 0.05 m B E  1.100 m Bkt -
BIFO 0.075 m B 019 m @B
AR 0.089 m BAE 015 m  FEEE
FHE S RS 1.20 m AS 0.05 m
PRHI R 1.50 1.50
SRR T
t=15cm 1.50 4 = 6.0
EfiE R EUE T
As t=15cmPL T 1.50 1.20 = 1.8
FE AR T
1.20 1.44 - 0.089 2
7 = 4 ) X 1.50 = 2.6
WERT (hiktgRE 1)
1.20 1.10 - 0.089 2
X
7 = 4 ) X 1.50 = 2.0
Ay T4 +) Skt
2.6 0.0 - 0.9 = 2.6
¥ AL T.(AS)
1.8 0.05 = 0.1
T E A T
FAYIARA t=19cm 1.50 1.20 = 1.8
RC-40
LT
HARFERA t=15cm 1.50 1.20 = 1.8
RM-40
F=ET
HABRET 270 t=5cm 1.50 1.20 = 1.8

PK—3




+TEHEE
HE 397

VP ¢ 7omm DP=1.2m

R R VP ¢ 75 MRS 124 m
SR 0.05 m BeEE 090 m R+
BIFO 0.075 m B 019 m @B
AR 0.089 m BAE 015 m  FEEE
FHE S RS 060 m AS 0.05 m
PRHI R 96.73 96.73
SRR T
t=5cm 96.73 2 + 0.60 X 1 = 194.1
EfiE R EUE T
As t=10cmPL 96.73 0.60 = 58.0
FE AR T
0.60 1.24 - 0.089 2
7 = 4 ) X 96.73 = 71.4
WERT (B4E+)
96.73 0.60 X 0.90 = 52.2
A TG4 1) Skt
71.4 52.2 = 0.9 = 13.4
¥ AL T.(AS)
58.0 0.05 = 2.9
T E A T
FAYIARA t=19cm 96.73 0.60 = 58.0
RC-40
LT
HARFERA t=15cm 96.73 0.60 = 58.0
RM-40
F=ET
HABRET 270 t=5cm 96.73 0.60 = 58.0

PK—3




+TEHEE
HE 397

VP ¢ 100mm DP=1.2m

R R VP ¢ 100 MRS 1.270 m
SRR 005 m BoEE 0.930 m A+
BIFO 0.100 m B 019 m @B
AR 0.114 m BAE 015 m  FEEE
FHE S RS 060 m AS 0.05 m
PRHI R 241.88 241.88
SRR T
t=5cm 241.88 X 2 = 483.8
EfiE R EUE T
As t=10cmPL 241.88 X 0.60 = 145.1
FE AR T
0.60 X 1.27 - 0.114 2
X 7 = 4 ) X 241.88 = 181.8
WERT (B4E+)
241.88 X  0.60 X 0.93 = 135.0
A TG4 1) Skt
181.8 - 135.0 =+ 0.9 = 31.8
¥ AL T.(AS)
145.1 X 0.05 = 7.3
T E A T
FAYARA t=19cm 241.88 X 0.60 = 145.1
RC-40
LT
FERIEfEA t=15cm 241.88 X 0.60 = 145.1
RM-40
F=ET
HABRET 270 t=5cm 241.88 X 0.60 = 145.1

PK—3




7 277\ NI B

3cm 0.078 0.0000
4cm 0.104 0.0000
S5cm 0.130 1399.9 1.8198
bcm 0.152 0.0000
Tcm 0.174 0.0000
10cm 0.240 0.0000
llecm 0.262 0.0000
15cm 0.350 0.0000
20cm 0.460 0.0000
25cm 0.570 0.0000
26cm 0.592 0.0000
30cm 0.680 0.0000
i 1399.9 1.8198

EXe 1.82







VI EITE S =

GX¥ ¢ 75+-100mm

woE L B 1% o O& | B L
H A X T ¢ 75 95.3 m
H A X T ¢ 100 240.4 m
o8 m b W L ¢ 75 6 b
BBk F W W T ¢ 100 14 i
B = T EE ¢75 22 N
B = T EE ¢ 100 59 M
1 A T RIVE ¢ 75 12 N
% = €T RIEE ¢ 100 17 H
% = T P77 15 1 M
1 & T PULZ7 ¢ 100 4 I
% = T GU>7 15 8 M
1 & T GU>7 ¢ 100 14 I
it 9 » & B L NT) ¢ 75 3 5
it 9 » & B L A71 ¢ 100 5 5
U A ERE L A, 15 10 & T
WOk B OB OB L N7) HnO 1 & T
ok o & OE L N7) HnO 2 & T
AN s S 675 7 5
Ly vy — MRy ) AR E T M35 3 1
A H = J vk FE L L 675 1 I
AT = Hh vk FE L %k ¢ 100 1 i
AN K EIT 7 R OE L VP ¢ 75X ¢ 75 1 & AT
KWK LT HET VP ¢ 75 1 & T




VI EITE S =

GX¥ ¢ 75+-100mm

w®OE L B 1% & | B 7
w W or 7 — 7 L ¢ 75 108.1 m
w W or 7 — 7 L ¢ 100 317.2 m
W or v — b T 332.6 m
BE ok & Mk F 4t LT % DIP ¢ 75 1 M
BE ok & Mk F 4t LT K%k DIP ¢ 100 2 M
&k B W W T VP ¢ 75 2 i
ok B W W T VP ¢ 100 2 =

BE B % 9 W LT DIP ¢ 100 2 =




it = &



WMEEE

VP ¢ 75mm-* ¢ 100mm

[EA— B 1% B | H 7
EE D LT HEAL VP ¢ 75 96.7 m
EE D LT HEAL VP ¢ 100 241.8 m
% ' 4 W L VP ¢ 75 28 N
% ' 4 W L VP ¢ 100 71 N
m = B #E #k # 4t 1=25kmBL T [
wm o= B WL 4 % 4.1 i




+THEFHEE (KBKE)



+ T % &= & 5 F
@ @
ki | JEAE )
SR aE | s
¢ 50~ ¢ 20| ¢ 50~ ¢ 20
HE 39% | HE 397
BRI T t=Hcm 117.8 43.2 161.0 160
sptEpE R | |
0.20BH t=10cmlA T 22.9 18.0 40.9 41
FERR I T 0.20BH 19.5 20.6 40.1 40
PEH] LT AN 4.2 4.2 4
HET (%R 0.20BH 5.9 4.6 10.5 11
HET G4ET) 0.20BH 5.7 9.9 15.6 16
HET G4t A 4.2 4.2 4
ey T et 13.2 9.6 22.8 23
ey T AS 1.1 0.9 2.0 2
BAYAE | | L
TR T t=19cm 22.9 18.0 40.9 41
Mok | L
s T t=15cm 22.9 18.0 40.9 41
BAeEsRET A2 | |
a1 () t=b5cm PK3 22.9 18.0 40.9 41




IERAERTER

& TFE % R R & it

M7 +40 o
D HEKE I HVPes0~620  0.90  56.2m-18f& T X 1.0m 38.20
@ HEAKE B HH HVPeso~o20  1.20  18f&FT X 1.0m 18.00




+TITHEE
HiE 3978
Bk

HIVP ¢ 50~ ¢ 20mm DP=0.9m

ASEH D RL (1EFTH720) 21k (0.5%1.0%0.9=0.45n7)

) B 1k (0.5%1.0%0.3=0.1513)
RERE R HIVP ¢ 50~ ¢ 20 KSR, 085 m
i 0.05 m e 026 2 m pokik R4
BIEOME 0.060 m eidlE 025 m AL
AR B 0.060 m Bz 019 m  FERE
IREIE 060 m W 015 m  EEpm
AS 0.05 m
PEHIIE 38.20 38.2
EREERRYIM T
t=5cm 38.20 2 + 0.60 X 69 = 117.8
ESERREUE T
As t=10cmLL T 38.20 0.60 = 22.9
AR T
38.20 0.60 X 0.85 = 19.5
NVALE < =T i) &P
0.45 8 + 0.15 X 4 = 4.2
HET (&E+)
0.60 0.26 - 0.060 2
7 = 4 ) X 38.20 = 5.9
HMET (41)
38.20 0.60 X 0.25 = 5.7
ANERT G&4+)
4.2
Ay T R+
19.5 5.7 - 0.9 = 13.2
¥+ T(AS)
22.9 0.05 = 1.1
NEL R
HAYARE t=19cm 38.20 0.60 = 22.9
RC-40
b JE A T
F/ERIFATEA t=15cm 38.20 0.60 = 22.9
RM-40
=AM
F/EBRIEET 232 t=5em 38.20 0.60 = 22.9
PK—3




+TEHEE
HE 397
IR RR AR 7K Bt

HIVP ¢ 50~20mm 18 it

RRE AR HIVP ¢ 50~ ¢ 20 MetiEs. 1,15 m
EZENRE 0.05 m MR 026 2m PRkt B -
B IO 0.050 m MR 055 m e+
AR EAME 0.060 m W 0.19 m  FERE
TRHIE 1.00 m BAE 015 9m  JEis
AS 0.05 m
PRHIAE R 18.00 18.00
EFEERR G T
t=5cm 18.00 2 +( .00 - 0.60 )
X 18 = 43.2
AHEERR BUE T
As t=10cmPL T 18.00 1.00 = 18.0
FAR R I T
1.00 1.15 - 0.060 2
7 4 X 18.00 = 20.6
WET (kpkteR+)
1.00 0.26 - 0.060 2
7 4 X 18.00 = 4.6
HRT 4+
18.00 .00 X 0.55 = 9.9
A5 TERAT) Fg
20.6 9.9 - 0.9 = 9.6
AL T(AS)
18.0 0.05 = 0.9
TR A T
FAYARS t=19cm 18.00 1.00 = 18.0
RC-40
LA T
FAERREA t=15cm 18.00 1.00 = 18.0
RM-40
EI=AN
FEBRI e 7 230 t=5cm 18.00 1.00 = 18.0

PK—3




=]

B B T R OB | H
TREE R (A = ¢ 13 3.0 m
R (A = i ¢ 20 32.5 m
gAY =& A R L ¢ 25 13 m
R (A = i ¢ 30 7.4 m
R (A N = i ¢ 40 6.9 m
R (A N = i ¢ 50 5.4 m
PRV 4y Kt R OA T DIP ¢ 75X ¢ 20 5 T
PRV 4y Kt R GA T DIP ¢ 75X ¢ 40 1 T
PR L 4y kM A T DIP ¢ 75X ¢ 50 1 T
A N RAN N = Y DIP ¢ 100X ¢ 20 7 s
PR sy ok E R T DIP ¢ 100X ¢ 25 5 s
ROV K K AT DIP ¢ 100X ¢ 30 3 s
BR L S K kR AT DIP ¢ 100X ¢ 40 2 &I
PR sy ke E AT DIP ¢ 100X ¢ 50 2 s
= 7 Jid f T ¢ 20~ ¢ 50 26 & pir
Eok B OB M T ¢ 20 6 T
ok B M T ¢ 25 ! T
ok B M T ¢ 30 ! T
ok # B M T 640 ! T
ok #® Om O T 013 3 AT
ROk o WO T ¢ 20 ! BT
wok oW oF T 613 10 i




SlElE| -
B |
I o
= | — S
&
e
o (@]
(a\] <t
s | =
e
IR
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v
fuo | fu
H ]
] D
o | Ho ,
N g g “
x| %=
S| & | Ho




BoOoEE B 2 (BdKE)



x®

B
el R i W% ZF ST FHTF Tl | men | e 1 o Wkt | ke " m
. . — 75X 200 (ks s il et PN
R N s it /e | 221/ 45° /4 | 221/ 45° H300 1450 OIS el Cu | teeso | 7sw200 it 75200 | 75200 W it W i
GX 75 DP=0.9m 20 2 2 1 1 1 1
3 23
GX ¢ 75 DP=1.2m 2 1
B 20 3 23 2 0 0 0 0 0 2 1 2 0 1 0 1 1 9 0 ! 1 9 0 !
GX ¢ 100 DP=0.9m 52 9 61 4 1 1 2 1 2 2 1 1 1 1
GX 100 DP=1.2m 1 3
Gl 52 9 61 4 1 2 0 2 0 3 0 0 1 0 2 2 1 1 1 1
Y " . e e P, ; pas ELIEN ENLTES
FI WL | e | BERTREE | Th AL e | BB o R I N .
et PARE | e | mmmE | owm | mEe ot | PR o0 | pr | o | TR \/"}LITZ“X e
R 500X 690 ! 500X 690 ‘ ZHRL % ! BV DIP/H VP §75 VP75
GX ¢ 75 DP=0.9m 1 1 1 3 3 9 5 1 7
GX ¢ 75 DP=1.2m 1 1 2 3 1 1 1 1
B 0 1 1 1 1 1 3 0 5 12 5 1 8 0 0 1 1 1 )
1 2 10 228 333.6
GX ¢ 100 DP=0.9m 1 1 2 1 2 3 5 15 14 4 12 1
GX 100 DP=1.2m 2 2 1
7t 1 1 2 1 0 0 2 3 5 17 14 4 14 1 1 0 0 0
[ERCTE eV IR TPR N T 1o IR RN AN=TN [ AB=TIN ] n Rk WE Bk T o
R 13 TR o | wir | e | ouy BB | EE L B | B ) 74RT | TR | ki) IO . = R S [ (L G B el
o - BRIy yAGK & e X1 T—7 Vs
AN A 1S | AN AH 075 it S B w5 e e1s| Vpers 7 7 5k vp DIP
GX 75 DP=0.9m 93.075 3 2
6 22 12 1 8 108.1
GX ¢ 75 DP=1.2m 2.190 1 1 1 2
B 95.265 6 22 12 1 8 3 3 1 0 108.1 1 2 0
10 1 2 7 3 1 1 333.6
GX ¢ 100 DP=0.9m 236.756 5 4 1
14 59 17 4 14 317.2
GX 100 DP=1.2m 3.610 2 2 2
&t 240.366 14 59 17 4 14 5 4 0 1 317.2 2 2 2




MRS

GXJ& ¢ 75mm i oH T R 94.545
DP=0.9m AR R 93.075
# ¥t Bl & MEHER B = HE 53
=8 & GX%& 4.000 20 80.000
H 4] =4 GX% 3.080 1 3.080
H ] & GX%& 1.300 1 1.300
Z ] =4 GX% 1.130 1 1.130
Z 15 & GX# 1.000 1 1.000
Z ] =4 GX% 1.010 1 1.010
Z 15 & GX# 2.720 1 2.720
fh =4 11 1/4° 0.340 2 0.680
- % T T ¥ ¢ 75X ¢ 75 0.540 2 1.080
- % T T & | ¢100X$75 0.120 1 0.120
F & T 5 & dT5X ¢ 75 0.440 1 0.440
Z2E RV S - ® 75X 150L 1
il fE | DM 1
# T X H Ok & B 1
HE K Sik f# | ¢500X690H 1 (FET)
ik i ¢ 75 0.190 1 0.190
= ¢ 75 1
Y 7 b o— v AR 8 S | EZARL ¢ 75 0.490 3 1.470
it 8 7 & B |H=510~690mm || M 3
% = il il RpE 9
% = gl il FA4F 0.029 5 0.145
% = gl i PY 0.180 1 0.180
E3 = gl B GUv 7 7




MRS

GXJ& ¢ 75mm i oH T R 2.190
DP=1.2m AR R 2.190
# Bl Bl & MEHER & HE R
Z 5 E ¢ 75X 300H 0.680 2 1.360
Z T " ¢ 75X 450H 0.730 1 0.730
L] = f552 w ¢ 75 0.020 1 0.020
51 & 1 =3 ¢ 75 0.080 1 0.080
% & il il RIGE 3
Bz &) il i GUr” 1
H Es i VPH ¢ 75 1
A~ WKk BT OB | VPOTEX ¢ 75 1
K oWok N oL T VP ¢ 75 1
Tt o # & B |H=510~690mm| @EHEHH 2




MRS

GXJ% ¢ 100mm i Hl T R 238.276
DP=0.9m AR R 236.756
# ¥t Bl & MEHER B = HE 53
=8 & GX%& 4.000 52 208.000
H 4] (=4 GX% 1.000 1 1.000
H ] & GX%& 3.230 1 3.230
H 4] (=4 GX% 1.430 1 1.430
H ] & GX%& 0.900 1 0.900
H 4] (=4 GX% 1.000 1 1.000
H ] & GX%& 1.560 1 1.560
H 4] (=4 GX% 0.730 1 0.730
Z 15 & GX# 1.380 1 1.380
Z ) it GX* 1.000 1 1.000
Z 15 & GX# 3.680 1 3.680
Z ) it GX* 1.830 1 1.830
Z 15 & GX# 1.000 1 1.000
Z ) et GX* 3.670 1 3.670
Z 15 & GX# 1.000 1 1.000
fh =4 11 1/4° 0.360 4 1.440
i & 22 1/2° 0.380 1 0.380
il w 45° 0.420 1 0.420
] % ih & 22 1/2° 0.120 2 0.240
-~ % T 7 | ¢l00X ¢75 0.440 1 0.440
F &~ T = % ¢ 100X ¢ 75 0.440 2 0.880
7T v HooE ® 75X 150L 2
i fe | 0D RH 1
6 75X 200H

2T L 2B AE S

L ox—




MRS

GXJ% ¢ 100mm i Hl T R 238.276
DP=0.9m AR R 236.756
# ¥t Bl & MEHER & HE R
o X W Ok & B 1
AT b AR A kAR HQ 1
H K e f# | ¢500X690H 1 (FET)
HE K F % | ¢500x690H 1 (FHELe)
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